STRATEGIC CASE STUDY

05 December 2023

Marking scheme

The answers detailed below show some but not all possible answers that were accepted by
the marking team. Marks were awarded for other valid answers that might not be included in

this document.



Key to marks:

Calculations or the manipulation of numerical data. Most calculations will be straightforward
such as the creation of accounting ratios to interpret financial performance, or assessment of
the sensitivity of particular estimates. Some specific calculation marks may be allocated but
candidates should not be judged solely on whether figures are ‘correct’, but on how they

reached their figures and the reasonableness of their assumptions and approach.

Narrative

The candidate will be required to demonstrate in their narrative responses, an assessment of
the impact and implications of the analysis performed and application of appropriate
elements of the syllabus as part of further critical evaluation. Narrative responses should
demonstrably inform decisions being faced within the case scenario. Marks will be awarded
for the evaluation of the information given in the context of the specific issues raised by the
case scenario. It should demonstrate consideration of an appropriate breadth of issues, such
as financial and non-financial perspectives, stakeholder considerations, ethical
considerations, strategic risks and the strategic objectives and environmental context of the
organisation. Candidates will be expected to demonstrate professional judgement in drawing
from this evaluation appropriate conclusions, making practical and relevant

recommendations and focusing their answer to suit the user(s).

The allocated marks should again be seen as a guide. Some additional credit may be
awarded (within the total marks available for the section concerned and subject to the
requirement for appropriate coverage of a breadth of relevant issues) for points which have

been developed with particular insight or cogency.

The marking scheme will identify (in bold) points of particular significance for which marks
will be ring-fenced. This will limit the marks awarded to candidates who miss the most salient

issues.



Reasonable credit may also be given for any points which have not been included in the
marking scheme but are clearly valid in the context of the candidate’s own analysis of the

case material.

General comments:

It is essential that candidates answer all the questions as set and meet the requirement to

achieve a minimum of 25% of the marks available for each question.

Any attempt to evade the terms of the question on the grounds that the situation depicted in
the examination scenario is unlikely to have arisen or occurred, or is improbable in concept,

will not be awarded any credit.



Question 1 (50 marks)

Q1 Response points Marks Syllabus App’p
ref ref
a Assess the advantages and disadvantages of the options 23 MA: AC K:
available for preparing Headstart Academy’s 2024/25 1.1, 3.1, ARC,
operating budget and make a recommendation on which 3.2 BA, FI,
approach should be adopted. ccs SBMG
1 mark for reasonable definition of each of the 3 (2020):  S: BI,
approaches; 1 mark for each point well-made on pros SO A2,  PSDM
and cons, subject to a maximum of 6 marks on each of D1, D2,
the 3 approaches (with at least 1 pro and 1 con needed b3 B: AV
per approach); up to 2 marks for a recommendation
that is reasonable in the light of the points identified SPFM )
by the student in their answer. ‘(5200 253)

Different approaches to budgeting

e Incremental budgeting: an approach where the new
year’s budget is based on the current year’s budget,
adjusted for known changes in policy, pay and price
inflation.

e Zero-based: an approach where the organisation is
divided into decision units and the budget for each unit
is developed from scratch based on what is required
for the unit to deliver its objectives

e Activity-based: an approach where the budget
allocation is based on estimated unit-cost of activities
multiplied by estimated volume (e.g. cost per student
to teach maths times number of number of maths
students)

Advantages and disadvantages
Incremental budgeting 18

The advantages include:

e Both schools are familiar with this approach (both the
finance staff and the budget-holders).

¢ Incremental budgeting is stable, resulting in budgets
that are not much changed from prior years.

e Incremental budgeting is easy to understand. It is
perhaps easier to explain where the figures come from
by referring back to previous budgets.

e Can be done from bottom up or top down.

The disadvantages include:



Q1

Response points Marks Syllabus

ref

App’p
ref

¢ Incremental budgeting does not challenge the
assumptions in the base budgets. The merger is likely
to make many changes in how things are done and
incremental budgeting may not reflect those in
financial terms as well as other approaches.

o The lack of challenge of base budget may result in
areas where budget is too generous continuing into the
future. Ditto for areas where budget is insufficient.

e Incremental budgeting is based on inputs rather that
outputs and outcomes. It will identify, for example, the
estimated cost of all the salaries of teachers and other
staff, but does not reflect their productivity.

e There can be incentives to overstate budgets. For
example, if each school’s existing finance teams
prepare budgets for their school, each might overstate
the budget in first draft in hope that it will result in a
bigger overall budget.

Zero-based budgeting

The advantages include:

e Zero-based budgeting is arguably more logical than
incremental budgeting.

e |tis by definition very challenging of the base budget
because it ignores it.

e Zero-based budgeting could be particularly suitable for
2024/25 where so many aspects of the merged
organisation will be different from the current
arrangements. It could enable staff to be innovative
about how they will work in the future.

e It could be an opportunity for the finance team to get a
better knowledge of how the merged school will
operate, as they will have to return to first principles.

The disadvantages include:

e Zero-based budgeting will take longer to do. Not only
is this using up the finance team’s resources but also
the teachers and other staff who will have to be part of
the process. This is a particular problem given that the
merger probably means lots of staff already have more
work to do than they would in a normal year.

e Whilst it might be a good approach for 24/25, it may be
desirable to then change again to a different one from
25/26 onwards.

e There will be winners and losers. The total resources
available for 24/25 are limited, and if some units
demonstrate they should have an increase in budget
compared with 23/24 then some other unit(s) will have
a smaller budget. This may cause further bad feeling
towards the merger and between departments.

e The end result might not be very different from the
budget that incremental budgeting would produce. For



Q1

Response points

Marks Syllabus App’p

There are many cultural differences between the
organisations:

e HAis more modern

e HA has qualified finance staff

¢ HA has empowered budget-holders

ref ref
example, budgets for premises expenses such as
energy use are driven by contracts, and there is little
that can be changed in the short/medium term.

e There is also the challenge of thinking differently. It is
very hard to think of alternative ways that the school
could deliver its objectives, and this will mean the
budget tends to reflect how things are currently done.

Activity-based budgeting

The advantages include:

o Potentially more accurate as budgets are based on
cost drivers (predominantly pupil numbers, but also
could incorporate other factors like number of staff).

¢ Increased focus on overheads and support services
costs.

e |tis a form of performance budgeting and offers the
potential for improving the school’s performance.

o There is potential for the budget to change quickly
between departments in response to changes in cost
drivers (e.g. pupil numbers for each subject).

The disadvantages include:

e There needs to be a costing system (or some other
way) of establishing the unit costs of activities.

o Likely to take more time and resources to prepare the
budgets.

e May need a more lasting process and culture change
in the school to adopt it.

Recommendation

Any recommendation is acceptable, provided it is

reasoned and based in the candidate’s analysis above.

b  Advise the Director of Resources on the cultural change GRM: AC K:
work needed to achieve a single finance team in the 3.1 ARC,
expanded Headstart Academy. BA,

17 IBC: AC SBMG

One mark for each point well made, subject to a 3.1, 3.2,

maximum of 17 marks, with a minimum of 5 marks 3.3 S: BI,

reserved for points in relation to cultural change (‘how C,

we get there’). SCS PSDM

(2020):
SO A2, B: AV,

Where are we 1, C2, pS

D1, D2,

D3



Q1

Response points Marks Syllabus

ref

App’p
ref

o HA is more business-like in its processes, reflecting
background of Director

e NTS is more centralised

o NTS financial power concentrated in deputy
headteacher

e |tis not clear what (if any) there is training and
development offered in NTS

o NTS underspends may be a result of vacancies and
poor processes rather than good management

o There are 4 posts across the two finance teams but
only 3 postholders

e NTS is relying on regional authority for some of its
financial management work

o HA trustees have delegated more to the headteacher
and Dir of Resources than NTS

e HA's headteacher has enormous amount of power
over staffing budgets

e NTS headteacher has no interest or involvement in
financial matters

Though not required, where students apply a model such
as the cultural web and make a valid developed point this
will attract credit even though it may not be possible to
produce a complete application of the model because of a
lack of information in the case study about, for example,
rituals.

Where do we want to be

o Afully integrated and effective culture across the new
organisation.
¢ Which of the current practices should be kept and
which dropped in order to achieve this?
e Likely that NTS will have to fit into HA’s finance
processes but:
¢ Need to be mindful of the allegation that it is a
takeover rather than a merger
e There will be training needs such as teachers from
NTS who become budget-holders after the merger
will need to learn their new role
e And governors from NTS may need support to
understand the financial information they will
receive each month
¢ Need to identify staffing requirement, which depends in
part on the processes to be adopted

How to get there
¢ Analysis of the extent of change and speed of change

gives four possibilities
e Adaption



Q1 Response points Marks Syllabus App’p

ref ref

e Evolution
e Reconstruction
e Revolution.

e Given there are only a few months, and there is a need
for a paradigm change (for NTS at least) suggests
Revolution would be most appropriate, although a
case could be made for any of the four options.

e Lewin’s model of unfreeze, change, freeze may be
employed.

e Can the existing staff be appointed to new roles
directly or does there need to be some sort of
recruitment process?

e Do the existing staff have the skills and competencies
to do the jobs?

¢ Communication with stakeholders about the changes
that are upcoming.

¢ Evaluate the headteacher’s idea to change the school’s
financial year to end on 31 August.

One mark for each reasonable, relevant point well- 10
made, to a maximum of 10 marks. The classification of
points into positive, negative and instructive should

be reasonable.

e |t would be easier to synchronise all of the school’'s
academic year planning with its budgets and financial
statements.

e The 31 March/1 April year end could result in
unintended and potentially unhelpful behaviour, with
budget-holders who have spent up their budget
deferring spending from March into the new financial
year and vice versa.

e Moving that to August might reduce the issue, as the
budget for a whole school year is known at the start of
the school year (as opposed to knowing only what 7
months of budget is, and hoping there will be enough
in the remaining 5 months to complete plans).

o There would be a 17-month “financial year” in the
changeover, which would make comparisons over time
difficult.

e The budget process would be affected when planning
for the changeover year.

o There would need to be a project put in place to
manage the change.

¢ As well as technical financial aspects of the project,
there would need to be some internal communication
with staff, trustees, etc.

¢ Potential need for external communication with
stakeholders, particularly those with a financial
relationship with the school.

FA: AC K:

1.1 ARC,
BA, FI,

BR: AC LSP,

2.2,4.1 SBMG

PSFR S: BI,
(2020):  C, E&d,
SO A4, D1 PSDM

scs B: AV,
(2020):  PS
SO A5,

B1, B4,

D1, D2,

D3




Q1

Response points Marks Syllabus
ref

App’p
ref

Training of budget-holders about what to do during the
17-month year.

Some things that might be classified as other factors to
consider are:

Whether other schools choose to follow Headstart’s
innovation, meaning we might be an example of best
practice going forward.

The response of the Ministry of Education and the
regional authority.

Does this change make the issue of a year-end rush of
spending more or less likely to happen?




Question 2 (50 marks)

Q2 Response points Marks Syllabus App’p
ref ref
a Evaluate the proposal’s financial implications including its MA: AC K:
payback period, accounting rate of return and net present 4.4 ARC,
value. FI,
22 BPFM: AC SBMG
Up to 16 marks for the calculations as shown in the 4.2
spreadsheet. S: BI,
SCS C,
One mark for each reasonable evaluation point made (2020):  PSDM
in the narrative, up to a maximum of 10 marks. SO A6,
B1, B2, B:AY,
Evaluation points that might be made include: 331' %12' PS
D3

o The payback period is 8 years. This is rather a long
time, particularly in times of dwindling resources.

e The accounting rate of return of >11% is higher than
the bank base rate and the coupon (interest rate) that
could be earned by investing the reserves in federal
school investment bonds.

e The NPV over ten years (using the 6% discount rate
implied by the federal investment bonds) is negative
(£54,000), suggesting it is an unattractive investment
in NPV terms. (Note calculation can be done using
factors from table or +NPV function, but latter needs
care to get the £54000 value.)

o NPV is a better evaluation tool than payback because
it takes into account the time value of money.

e There will be the lost interest income from the
£788,000 of reserves that will be invested in the
project.

e Sensitivity analysis could be done both on the
assumptions made about costs and income.
(Sensitivity analysis carried out could be awarded
up to 2 of the narrative marks, subject to the
overall maximum.)

o |If the facility was operated at full capacity, it could
generate gross income.

e The proposal can only be financed from reserves, and
it would use 68% of the forecast reserves at 31 March
2024 (£1.164M).

e This would leave only £376,000 in reserves, which is
approximately 2% of the annual budget of the merged
school.

e This is within the Ministry of Education’s guidance level
but does not leave much room for overspending on the
project or underachieving on the income levels.

10



Q2 Response points Marks Syllabus App’p
ref ref
b  Describe the major risks in the construction and operating BPFM: AC K:
phases of the project and how they could be managed, 4.5 ARC,
using the 4Ts risk management model. BA,
GRM: AC LSP,
Up to 2 marks for explaining what the 4Ts model is (i.e. 2.1 SBMG
that risks can be terminated, transferred, treated or
tolerated). SCS S: BI,
15 (2020): E&I,
1 mark for each reasonable risk item that is described, SO AL, PSDM
and a further 1-2 marks per risk item for classification A6, B2, )
into one of the 4Ts, with an appropriate description of g :13' D2, ES AW

the countermeasure(s) that would be taken, to a
maximum of 15 marks in total.

Possible risk items include:

¢ Fail to find contractors to do work at affordable price —

TOLERATE (market conditions out of school control)
¢ Overspending of capital budget — TREAT (tight
budget control, include contingency in budget)

e Poor specification/design of the facility — TRANSFER
(use agents to design and build facility)

e Poor quality in installation of pitch or construction of
the building — TREAT

e Construction company fails to complete the project
because of bankruptcy etc — TRANSFER (insurance)
or TREAT (hold some or all payments until project
complete)

e Construction company fails to return to repair snags at
the end of the construction phase —TREAT (retain
10% or more of payments until snags are repaired and
project signed off)

o Bad weather over summer delays the project —
TOLERATE (weather is uncontrollable)

e Late completion of the project so not ready from Sept
2024 — TREAT (penalty/liquidated damages due from
contractor if late, perhaps as a £ for each week
delayed)

e Lack of customers — TREAT (ensure resources
allocated for marketing/promotion, regular review of
prices and demand at different times of day/week)

¢ Non-payment of fees by users — TERMINATE
(payment made in advance only), TRANSFER (use a
factor) or TREAT (tight credit control)

e Serious injury to someone using the facility —
TRANSFER (insurance)

e Operating budget inadequate — TREAT (base budget
on best possible data, budget control processes)

e Building and/or pitch damaged by users —
TRANSFER (insurance) or TREAT (require deposit
from users)

11



Response points Marks Syllabus App’p

ref ref

o Complaints from parents or others that the facility

should be built at Northbank site since the reserves

came from NTS — TREAT (prepare a comms plan for

answering such criticism) or TOLERATE (hope no one

says anything!)
e Health crisis (such as epidemic or pandemic) causes

closure of facility for long period — TRANSFER

(business continuity insurance)
Discuss the other non-financial factors that need to be AA: AC K:
considered in evaluating the proposal. 1.6 ARC,

BA,
1 mark for each point made (to a maximum of 8 marks) 8  DSDA: AC LSP,
in describing the non-financial factors other than risk 4.2,4.3 SBMG
management.
IBC: AC S: BI,
Possible points that could be made include: 1.1,2.1, E&],
2.2 PSDM

e There are political issues between the HCT trustees scs B: AV

and Northbank governors about the merger that could (2020): P'S !

play into this decision. The politics should not be SO A2 '

ignored. AS. B3
e What are the views of the Ministry of Education and D1’, D2’,

Regional Authority representatives? Would they prefer D3

something more educational.

HCT has a majority on the steering group. SPFM
o The reserves used to finance it come mostly from (2020):

Northbank but the beneficiaries will include HCT SO C1

pupils, who outnumber Northbank 3 to 2.

o Are there any competing projects that could be
financed from reserves that would offer better value for
money and/or benefit from broader support amongst
stakeholders?

¢ Who wants this facility? Is it something that is actually
demanded in the community or something that the
school thinks it can deliver? Is it a “build it and they will
come” situation?

o There may be safeguarding issues around opening up
the campus to outside groups; additional security
measures may be required.

e Market research should be conducted before we build,
to assess/confirm the types of facilities that might be
attractive to the community.

e The facility will need to be carefully managed as its
reputation and that of Headstart will be closely
interlinked.

12



Q2 Response points

Marks Syllabus App’p

ref ref
d Use your analyses above to draw conclusions and make SCS K:
recommendations on whether to proceed with the (2020): ARC,
proposal. SO A2, BA, FI,
5 A5, A6, LSP,
Up to 3 marks for well-reasoned conclusions that flow B1, B2, SBMG
from the candidate’s analysis. Up to 2 marks for Ci1, Cz,
logical recommendations. b1, D2,  S:BI,
D3 C, E&l,
The analysis probably leans towards not building the L,
facility. PSDM
The NPV is negative and the payback is quite long at 8 ES A,

years.

However, the ARR is much higher than the return available
from banks and the Director of Resources has a business
background and may put more emphasis on this.

There will be the lost interest income from the £788,000 of
reserves that will be invested in the project.

There may be a sense that something has to be done
because GEG is reducing.

The risk appetite of the trustees, as opposed to the
headteacher and Dir of Resources, may have an influence
on final outcome. If they are risk-averse, they may choose
not to do this project.

The non-financial factors might reinforce the financial
evaluation or sway the decision the opposite way.
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